HX BN O R OH$ (k2451 A 1 B BAE)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 799  918| 918 1,836 4 1 4 40 A H 260  348| 345 693

2| A (fE) 971| 1,159 1,203| 2,362 44 IR 3 3 4 7

4 e 506  535|  536| 1,071 45 JH/ | 111 98 81 179

5 Jbs e <F 346 466 443 909 44| 44 44 48 Yroo& 394 437 508 945

6 AH 238|  389|  354| 743 49 HOFA 300  334| 370 704

8| Al (fF) 346 380 412 792 50 LD HL 370 393 462 855

10 P 208|  208| 216| 424 52 [iE)7238 432|  497|  525| 1,022

11 A H 53]  N\ENRE 452 452 541 993

14 _E 6 12 7 19 55 oo H 360  402|  446| 848

15| BAEHISE 1,235 1,540| 1,623 3,163 56 R 257 270 320 590

16 FERISE 1,001 1,391| 1,444| 2,835 57 B i 169 196 208 404

17 W2 379 387|451 838 58 — 188 180 217 397

18 &7 i 317 411 420 831 59 N 2001  226| 247 473

19 SR A 17 19 21 40 60| TG A 17T B 218 234 235 469

20 A B 1,209| 1,441| 1,389 2,830 112| 112 112 61| mE1TH 114 122 143| 265

22 FikF 827 985| 1,089 2,074 62| wmHE2TH 155 186 218 404

23 B 284  348| 353|701 63| mHE3TH 198| 207 238] 445

24 HHN 890| 1,045| 1,119 2,164 64| mE4TH 72 91 87 178

25 VALl 65 /INRHHT 407 490 498 988

27 oKW IA 268 281 350 631 66| HrnH 186 221 231 452

29|  FHEHAE 17 17 17 67 = 109 132 152 284

31 L 79 98 99 197 68| TG 27T B 220 257 273 530

33 KL 328  387| 423|810 69 SR 147 179] 210 389

38 FoYAN 155 193 170| 363

9| AN E 143 199 207 406 7t 15,891| 18,764| 19,806 38,570| 160| 157 3| 160




X BN O RO (ERk244E1 A 1 H B7E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 494 498| 495 993| 13| 13 13| [391| #AFITH 460  498| 482 980
312| %2 TH 186 223 229 452 392| 2T H 105 109 104| 213
321 ME1ITH 388 375 391| 766 393 W31 H
329| fE2TH 660 669 703| 1,372 411 KRE1TH 374|406 429 835
323| ME3TH 441 493 490 983 412| KM2TH 363 421 470 891
331 BAMI1TH 555  524|  511| 1,035 29| 29 29 | 413 AMI3TH 2721 278| 278 556
332 BAHZ2TH 410|  435| 462 897 414 A4 TH 410 417 421 838
333| BAM3TH 427\ 386| 412 798 431 WE/HTTT H 397|  456| 492 948
334| BAH4TH 623|  663|  790| 1,453 439| WE/HT2T H 849  969| 1,066 2,035
341 R#1TH 753  748|  764| 1,512| 66| 66 66| | 440 kS 658|  753|  790| 1,543
342| RMH2T H 296 358 350 708 3 3 3| | 451 EFWS1ITH 450 509 561| 1,070
343| R#3TH 397 471 481 952 452| EFIR2TH 262  259|  317| 576
344| R4 TH 287 295 348 643 461 —XCE1TH 819| 1,039 1,057| 2,096
345 RA5TH 387|  396| 484 880 462| —3XH&E2 T H 643|  740|  761| 1,501
351 KM1TH 926  887| 983 1,870 4711 AHITH 47 54 68| 122
350 EM2TH 916  841| 966| 1,807 472 AH2TH 211 273|276 549
353 KM3TH 708/ 733|786 1,519 9| 6| 3| 9| |473] S HS3TH 176 224 227|451
31| HMELITH 288 286 235 521| 85| 75| 10| 85| |474| S HE4TH 309 439 472 911
362| HAHEZ2TH 391 446 467|913 475 AH5TH 268|  330| 357| 687
370 b5 v < 577|  641| 623 1,264| 23| 23 23
381] AH1TH 198  296| 249 545
382| AH2TH 706| 1,023 1,003| 2,026 = 18,384| 20,228 21,181 41,409| 228| 215| 13| 228
383 AH3TH 297|  367| 331 698 N 34,275| 38,992| 40,987| 79,979| 388| 372 16| 388




